s £RAEI%HAILY FII3EERY

- EPEREP N EsRTHE

# ¥ : B31-1~5-1 s BB VIR
- ~HiEH: 5 ( )T; |5 BN guE R ¢ o I gEeng vRE 9
L () #@x—=3)(3x+4)=ax’+bx+c BT 5ir K L 7 1 [5H/6=1/11
? ¢ \B—E- T
(A)a=9  (B)b=0 i \/5x[6=1/30
(C)c=—12 (D)a+b+c=8 7 14[5[6=1/12
(¢%)C (A)L‘ﬁ”iféi
42 ¢ (4x—3)(3x+4) (B)p ~ 7 LA
=12x2+7x—12=ax®+bx+c C)r 3 p s
—a=12>b=7>c=—12 (D)e ~ /it &
a+b+c=12+7-12=7 (¢%)C
i 91 (C) 1 £ » #iE (C) 3 567 A s 42 0 A i gt R Y 0 420
S4B
2. ( ()P Bk a=812—40% | T 7|vi- A £ a ¥k @@:m:\ﬁm, sr1 g
(A1 (B)lL (C)31 (D)4l R3 A A =E(C)
#%)C
zig : 32812_402 6. () ¥ —10n5=72
— (81+40)(81—40) (A)—52 (B)—2\5
—121x41 (C)—10 (D)—+/50
=11%x41 (%) B
=111+ 41458 a 57 > 31 7 La hFlkk P —11(? =5
# i (C)

3.

4,

() BEALETG L T5
(A)(1,—6)
(B)(—2,5)
©)@E. 4
(D)(—3,—4)

(%) A

e A (A) 1[0 =02+ (—6—0)?=1[37
E7(B) : \J(—2—0)7+ (5—0)2=~/29
E7(C) 1 [(3—07+(4—0Y=1/25
&35 (D) : \[(—3— 07+ (—4—0)=/25
“E (A)

e BL A Bh B iR 7

7.

5 —==—2/5" %%(B)

() 28805 52 2
(A4 (B)22 (C)2 (Dn2
(¢%)C

S ERNPENE

8.

:\/3_2+\/§=\/@3=2

#i% (C)

( £+/98+x=7 > B x

ol ot

©)2\/2 (DN2

(¢%)D

2% 1 [98+x=7

9.

R

x=1/08+7=1/98+1/49=1/2

i (D)

() TARYR- B %IE 5 _5_"‘];\ 2X—39
(A)2x*—3x  (B)6x—4x?
(C)—(2x+3)? (D)(2x>—3x)—(2x—3)
(¢%)C
I8 (A) : 2x2—3x=x(2x—3)
78 (B) : 6X—4x>= —2x(2x—3)
F38(C) 1 —(2x+3)
{35 (D) : (2x2—3x)—(2x—3)=(2x—3)(x—1)
< if (C)



10. () 6X2+kx+7=(x—1)(6x—7) > ] k= ?
(A)—1 (B)—13 (C)1 (D)13
(¢%)B
iR (x—D(6Xx—T7)E *
=6x>—13x+7
# k=—13
7 (B)
11. ( ) 2 4+ Ts + 4 A(—1,4)-B2,3)-C(0,1)=
2t A AB~ BC - ACE B eh+ fJ~Fﬁ§”‘*‘f:~fF ?

(%) B

#2 1 AB=A[(—1—27+(4—3Y=1/10
BC=+/(2—0)>+(3—1)>=+/8
AC=-[/(—1—07+(4—17=1/10
. AB= AC> BC
i (B)

12. ( T FE?

) BT IS4 T Sk e
(A)625 T = 42 § +25

(B)—25 1T = § —625

(C)—49 ehT = 43 § 47

(D)—9 ¥ —81 th = 42

(%) A

iz 1 EE(B) 1 (—25)°=625> —25 1T 3 §_625
FIHEC): —492% T3 {2

FIE(D) : (—9)°=81> —9 ¥ .81 thT = 2
FIE(A)L Fr o i (A)

13. () Fa®b0nT34, 2 a>0> pla="?
(A5 (B)10 (C)\/50 (D)50
(¢%)C
2Ef2 1 a % 50 T % 42 = a=1[50
©a>0= a=\/§) v w2 (C)
2 ) .
—§x(3x—12)§ EFoR— B F 37
(A)—x>+8x  (B)—2x>+8x
(C)—2x>—8x (D)—3x>—12x
(¢%)8B
—%x(Bx—lZ)

) BRI

e

— (X (3)—(—30x12
= —2x2+8x
5 (B)

15. (
(A)x+2 (B0 (C)—3
(%) A
FR g (<2 4) 5 - S E RS
LR G g S (A) LK de o HE (A)

(D)100

) T A e H 2 7 i &R ?IE‘\“f'1—2X+4 2L A

16.

17.

18.

19.

20.

¥

( )FF— S Al 5 2Xx4+30 B¢ x>0 Bl
= A 7fa g5 7
(A) 4x*4+12x+9 (B) 4x>—12x+9

(C) 4x*+6x+9 (D) 4x>*—6x+9
(%) A
R G fF = (2x+3)?=4x*+12x+9
i (A)
) 9 2 1
( )« 4.‘r'2010><49— (21— 0)(a—7)=b+£’ P 7]

f’pﬂ—*ﬁilﬁi?
(A)a=49 (B)a=50 (C)b=1042 (D)b=1049
(¢%)B

9
447 2010><49——(21 10)(50 7)
2 1 12
1 1
21050—6—5+35=1039+35
.".a=50 > b=1039
#iZ (B)

o .ol _ 5
() 38 12,x79= ¢

5 1 23 1

(A) 9485, (B) 9605, (C) 9775, (D) 9785,
(%) C
U | 11
=S F A ZZX79__(12+ 4)(80 6) 12x80 — 12x5+4x80 —

11 1 23

256 =960—2+20—5,=9775,

5 (C)

() #F(C+ax—5)—(—9+5¢—2x)=ax+bx+c 7l
T SISt i A
(A)a=—
(B)b=6
(C)c=4
(D)a+b+c=14
(¥%)D

342 0 (X2 4+4x—5)—(—9+5x2—2X)

=(1—-5x*+(4+2)x+(—5+9)
= —4x*+-6x+4
—>a=—4>b=6>c=4
atb+c=6

E B (D) #=E (D)

() T AF MAJbenscit > in ¥ 3 R AE?
(A)/6)*=6
(B) tedfcait b 7 1245 ] 5 +[6e8k
(C/64_36 e-T = 42
(DN/6<3

($%)C

Tz 1 E98(C) 1A[64.6 T > 34 1 g

i (C)



) FBa+1)x—5x°+x—1=0HF - == x> f25" >
Pl3a—1eniE s @ ?

(A)—2 (B)—-1 (C)0 (D)1

(%) A

#EJ gL 3a+1=0>3a=—1
J.83a—1=—1-1=-2

i (A)

21. (

) E(M—2)x2+(M—5)x+3=0 &_x th- == x> 42
o RImeniER L e ?

(A) m=2

(B) m=#2

(C) m=#5

(D) m=+0

(%) (B)

22. (

) HEAZ WY - = 5TH A W E ip e s i
FTALE 0 F 60~65 2T EF 44 PIRIT- 2G5
moa 9

1 40
5
10

% (G} 1 1 1 1 1 1

= 9735740 45 50 55 60 65
FEEACN)
(A)30 (B)40 (C)50 (D)60
(¢%)B
4% 1 4+10%=40(* )

23. (

) B EAEE F % 60 X g fEAR T s e E
Bl > P &% 60~70 ~enfp¥t=cdics: 20 79

1H 30
) 20
x

8y 10

~ { —
% ©730405060708090100
##O0)

(C)20% (D)30%

4. (

(A)5%
(¢%)D
iz d BV ot R L 30%

(B)10%

25. () %4 - FL50 =374 $]PRAET R cdp $ = s

e o hEE & 27~29 f ot $i e s 5 0 2

BT | DO | HEEE%)
23~25 3 6
25~27 14 28
27~29 15

29~31 13 26
31~33 5 10
4T 50 100

(A)28% (B)30%

(C)32% (D)34%

(¢%)B
EAE E><100°/—3O°/
e F 50 b= ()

( 1 1 1 1 1 1
135140145150155160165170
H& (A1)

(A)34 (B)24 (C)l4
(8%)A
iR 0 BT et Rl 34 4

(D)4

) B S L E-ITHE L g g ks e E R
» 2 40 150~155 A iE- 2F 34 o BlRFIEF 5
k9

# 2
¥ 5
—~ 16
% 12
~ 8
4

21. (

T 1 1 1 1 1T 1771

150 155 160 165 170 175
55 (A7)
(A)24 (B)25 (C)30 (D)36
(¢%)B
SfR T 2RI A Hx12%=3(4)

100
DFLA ﬁ;:=3+12%=3><§=25( A)

28. (

F P R

Y 3 oendna st ¢ 4 - £ A500 o £ 400 &
TN F 3002 ¢ s AR w R hg o 5 RS R

. 12 ek
PLA B0 A8 5 2B A g 0 B8 B BT L

AN
o=
»
~
~0

(A4 (B)6 (C)8 (D)10
(%) D
HRIRBBE xR
12
(400+2X)(300+2X)—400X300=4OOX3OOXE

x24350x—3600=0
(x—10)(x+360)=0
x=10 & —360(f * &)
5 ELE 10 2 )
&% (D)
29, () T3 f?ﬁ{(az—Sa)+3(5—a)ﬁﬂﬂ;‘ ?
(A)3+a (B)4+a
(C)5—a (D)6—a
(¢%)C
4% : (a®—5a)+3(5—a)
=a(a—5)—3(a—>5)
=(a—5)(a—3)
% (C)



30 () F 483N 3(x—5)2=432 B> BN hiz L @ ? 3. () T 7 fﬁiﬁ£7x2+28x+21 5N 9

(A)7 4017  (B)—74r 17 (A)x+3 (B)x+7 (C)7x+1 (D)7x+3
(C)7 fv—17 (D)—7{-—17 (%) A
(¢%)B iz Tx3+28x+21
42 3(x—5)?=432 > (x—5)°=144 =7(x2+4x+3)
X—5=412 " x=—7 & 17 =7(x+1)(x+3)
i (B) SL(XH3) & TxXA4-28x 421 ihF) 5%
FiE (A)

3. ( )¢ P-Q-R=®35m3;* > 2¢ P=6x*—-2x~Q
=(2x+1)(2x—1) ~ R=(2x+1)(6x—3)—x(6x—3) » A 37, () TAlANY > em— NE 429 TN Q

TOER Y RE G - R F D (A)3x+1 (B)2—3x (C)2x+3 (D)4x+9
AP-~Q (B)QR (COP~R (D)1} % & (¢%)C

(% %) (B) 3 LA —9=(2x+3)(2x—3)

i (C)
32. () Fad 7xX°+14x—21=0 2 > p| 3a®+6a—1

=7 38. () TA SN 5 AX(BXx—2)Er 6(BXx—2)? th F]5t 4
(A)10 (B)9 (C)8 (D)6 R 9

(¢%)C |2 ¢ 1 5x—2

TR 1 TX0+14x—21=0 = x*+2x—3=0 Ao (5x—2)2 7 i x(5x—2)
(x—=1)(x+3)=0 Arjed (BT &re &
x=1g-3 Cee~ & D)2ty L
#a=1 (%) B
f 3a®+6a—1=8 SR 2 TR G 425 £(5X—2) » £(10X—4)-e--
7ci% (C) #< i (B)

33, () j20.1x°+0.2x—0.3=0" B] x=? 39. () TAlRE E X250 ?

(A)0.1 & —0.3 (B)0.3 & —0.1 (A)X2+x—2  (B)2x®+3x—2
(C)1 & —3 (D)3 & —1 (C)2+5x—3x?> (D)—2x*—5x+3

(¢%)C (¢%)C

2 1 0.1x%40.2x—0.3=0 #hz 1 (2+5x—3x)+(x—2)=(—3x—1)
x2+2x—3=0 &% (C)
(x—1)(x+3)=0
x=1g—3 40, () XA B2 Ard 90 T T 3 ot TP g < 27
i (C) RIS e RS e - 7

(A1 (B)3 (C)5 (D)7

34. () FN A iE(X+2)(5Xx—12)+9x » T F T 5| Bk (%) B

. HfE XA ki a9—a
(A) (x+3)(5x—8) (B) (x+4)(5x—6) Bl a>+(9—a)’—a(9—a)=27
(C) (x—6)(5x+4) (D) (x—8)(5x+3) = 3a’—27a+54=0

(%) A = a?—9%+18=0

2 L (Xx+2)(5x—12) +9x = (a—6)(a—3)=0
=5x2—2x— 24+ 9x =a=6#& a=3
=b5x2+7x—24 St A Hh 603
=(x+3)(5x—38) #i% (B)
&E(A)

35. () FrlimE A X*—2x—8 FF|5 ?
(A)x—1 (B)x—2 (C)x+2 (D)x-+4
(%) C
3 X2 —2x—8=(x+2)(x—4)
i (C)




